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Pg. 2

Part—1/9mT-1

: Marks — 30 / 3% — 30
Me: THAMH HA 15 I & | T3 T AFEE B | T@F W * U 02 37
fautfa € |

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

Aqifiren et ae | gy R wn R 2 [T #HT : 20 vsg]
Differentiate between compound and element by definition.
[Answer Limit : 20 words]

g IR i & 211 a1et ey IWe w1 E ? [STR i : 20 1)
Describe the prominent effects of nicotine in the human body.
[Answer Limit : 20 words]

AR i T & e e i A, Y i 7 [ - 20 92

Rusting occurs in Iron but not in Aluminium, explain why ?
[Answer Limit : 20 words]

Sfesweft nifewIss waet @t & ?ﬁ?ﬂﬁgﬂﬁamﬁ%ﬁé’r HuTH H WRa § yH3

$i ? . [STRHHT : 20 915g]
What are genetically modified cmps ? Which Multi National Company Introduced
Bt-Cotton in India ? [Answer Limit : 20 words]

w;mﬁrﬁmﬁ&(ﬁﬂ‘r)qaﬁﬂq(Gene)wmaaﬁa’rm(Hg)a%‘sﬂa@:m:m
AR | [3R i : 20 wre]

Name the transgenic plant(s) and the genes used for mercury detoxification.

[Answer Limit : 20 words]
AT @mw@mﬁwwmﬁﬁmwﬁmﬁ%ﬁaﬁ
el Bielt @ @R 3ot Sftem araly, e Rrae Bt 2 2 [STR T - 20 9=
What is generally the number of red blood corpuscles per cubic millimetre of
blood in an adult man and woman and what is the approximate life span of Red
Blood Corpuscles ? [Answer Limit : 20 words]

9 ST & 152 Y 3frs W & w0 W v=ar d 7 (3T im ; 20 3]
What is the effect of excess nitrates in drinking water ?
[Answer Limit : 20 words]

ﬁ?ﬁﬁﬂmﬁmml [ST T : 20 vIsg]

Define Biodiversity.
[Answer Limit : 20 words]
i e @ ¢ [3TR €T : 20 wsg)

What is sustainable development ? [Answer Limit : 20 words]
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10. | SI=SHT @ TS 9T h} T H | FTHHT BTG 7.4 x 1022 kg F1 BT 1740 km
4 - | [STR i : 20 WIeg]
Calculate the escape velocity from the moon. The mass of the moon = 7.4 x 1022 kg
and radius of moon = 1740 kms. [Answer Limit : 20 words]

11. | focafRma smmsn o g ? | - [STEmT : 20 =]
What do you understand by Remote Sensing ? [Answer Limit : 20 words]

12. | =ger & ®eA @i qRoifa $ifd | [ & : 20 wreg)
Define Cloud Burst. _ [Answer Limit : 20 words]

13. | “sfps” s g ? : [T : 20 wse] |
What is “Epicenter” ? [Answer Limit : 20 words]

14, | Tfiehet o $&%E (GUI) 3t 1w IeR $etha (CUI) 3 7ex 3iat 9arsy |

[3T 4T : 20 v15g)

Differentiate between Graphical User Interface (GUI) and Command User
Interface (CUI). [Answer Limit : 20 words]
15. | MS-Word # 3 7 fasheg @i 2 ? [T HimT : 20 wsg]
What is mail-merge option in MS-Word ? [Answer Limit : 20 words]

Part -2 /91771-2

Marks — 50 / 3% — 50
dAe: @AW H B 10 T € | ft v whEd 2 | @S g ¥ R 05 st
fyifa €

Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

16. | “STeplcieh T AT “TET-9Tan” Y whfeehan § g 3 HRON BT qui B |

[SX HiHT : 50 3155
Describe'the reason for difference in the crystallinity between *“Natural Rubber”
and “Gutta-Percha”. [Answer Limit : 50 words]

17.|  arifeferehe sitem =2 €1 8 7 36 700 Gd SwE davi R | [Sa i : 50 i)

What is Borosilicate glass ? Describe its properties and applications. _
[Answer Limit : 50 words]

18. | Wewn? 7 U3z 3 ¥g TN YA ATGVIHA & ? [STRCEHT : 50 755
What is patent ? What are major requirements for grant of a patent ?
[Answer Limit : 50 words]
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20.
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Pg. 4

amd. g .. (JUCN) 1 gf & fiflae | =1 sfte srfafem wia i wee gro fea
oy ¥ arfufrafa o ma qen seeT Sew Fa o ? [T T : 50 Wsg]
Write the full form of IUCN. In which year the Parliament of India enacted the
Wild Life Protection Act and what was its purpose ? [Answer Limit : 50 words]

e TguuT o AR 3 $® UGS | [ &1 : 50 91T
Suggest some measures to control noise pollution. [Answer Limit : 50 words]
TEH ITH T 3R | 31 98 hifve | [STR T« 50 WIsg]
Differentiate between a National Park and a Sanctuary. [Answer Limit : 50 words]
Rt fofie afRm & gy o fugefi fafae | [T i : 50 w1

Give a brief account of Indian Remote Sensing System. [Answer Limit : 50 words]

SIHS T TN G T AR ? [ €T : 50 92

What is the difference between infrasonic and ultrasonic waves ?
[Answer Limit : 50 words]

Tehfersh Tl T Nehfcieh ST9eT 3 41 q&T TR R 2 [T AT - 50 wse]

What is the major difference between Natural hazards and Natural disasters ?
[Answer Limit : 50 words]

HER e % HIEH @ STfh G forq TRt § 7 [STRCHmT : 50 veg]

What are the challenges to internal security through communication network ?

: [Answer Limit : 50 words)

Part~3 /9 -3

Marks — 40 / 3@ — 40
A . FWAMHFA 07 9 2 | el e 05 wel 1 IR 2 | S w1 F e
08 37 fuifa 2 |

Note : There are 07 questions in this part. Candidate should attempt any 05
questions. Each question carries 08 marks.

Frafefaa o avl «t
(i) wAfewe 2w, Frsgftin i i vg=m & forg,
(i) g, Sufy 3t e [STR T : 125 32

Describe the following : ,
(i) Benedict’s test for the detection of reducing sugars.
(11) Drug, medicine and chemotherapy. [Answer Limit : 125 words]

WA f R s A aFA /=L 7 [ T ; 125 W)

What is gene therapy and how does it differ from supportive therapy ?
[Answer Limit : 125 words]
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Pg. 5

TR T A & 7 o g o) W g fefr % e o o R weh % i
g7 [ T ; 125 W15
What are chromosomes ? Describe the types of the chromosomes on the basis of
number and position of centromere. [Answer Limit : 125 words]

wes e o (Sl Saeiui= Aehfasw) 1 gara fafiau | (I T ;125 1eg)
Describe Clean Development Mechanism (CDM). [Answer Limit : 125 words]

C (SRMUE), Si AT Ge &l ATeTeh HEAT Tl @ W C TH HATCTH @ e Si AT
Ge A1 FH=TeT &, TE H | | (3o Him : 125 91

C (diamond), Si and Ge have same lattice structure, but why C is an insulator and

Si and Ge are intrinsic semiconductors, explain. [Answer Limit : 125 words]

g g Sarat yonefl i awed | [STCHT : 125 W)
Explain Flood Early Warning System. [Answer Limit : 125 words]

sratﬁwrsashéﬂiﬂﬁamm DBMS % #1 @2 ¥ 7 DBA ¥ %@ # +ft ufonfya
&t | | [FeC T : 125 g

What are the advantages of DBMS over typical file processing_s;.r.stem ? Also
define the functions of a DBA. [Answer Limit : 125 words]

Part — 4 / Wt — 4
Marks — 80 / 3@ — 80
Me: AT H A 07 A & | Inefi f=i 05 WAl o1 I € | v @S v F forg
16 37 fAuif@ & |

Note : There are 07 questions in/this part. Candidate should attempt any 05
questions. Each question carries 16 marks.

erferaa %1 aul it | yrienioag v autafe wnfee  Ierswm afed e & |
[3T HH T : 250 5]

Explain plastics. Distinguish between thermoplastics and thermosetting plastics
with example. [Answer Limit : 250 words]

(37) GTEA g Aol At ) 7R 1 qUA R |
() ‘oiyg twnee’ w1 R 7 W@ e il ¥ “wroh-smea” fift go 32

T RS awa ? 7 [SER i : 250 W)
(a) Describe the removal of greasy dirt by soap.

(b) What is absolute alcohol ? Explain how it can be obtained from rectified
spirit by fractional distillation. [Answer Limit : 250 words)

uiftres wiess 1 R 7 3aeh = seeed v amiver Femor @ afim feogoft
Hifora | [T & : 250 9G]

What is menstrual cycle ? Write brief note on its various phases and hormonal

control. [Answer Limit : 250 words]
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wfammaﬁa—mﬁw%mmavhﬁrﬁqqﬁmmwﬁmmm%l

[S<R € : 250 wisg)-
Explain the impact of solid waste on our environment and show how it can be
managed. [Answer Limit : 250 words)]
N Cd g wwrd- R # wam ot 2 2 g it g o wag- i % v %
g o fafie | [T w1 : 250 wree]
What is the difference between soft and hard X-Rays ? Write down the uses of
X-rays in five different areas. [Answer Limit : 250 words]
i & eI T | [T i - 250 g
Explain the types of drought. [Answer Limit : 250 words)

Differentiate between LAN, MAN and WAN. Give example of

- ‘ each. Also discuss
topologies and devices used in computer network.,

[Answer Limit : 250 words]
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